[image: image1.png]2318T73M407 ﬁ
LogN I )

WG = R ¥ 202468120415

WE AR BEK. B BRAS
FERML: iR BB A PR
WRRH: BiTRN

e ER: 20244 02 A 09 B





[image: image2.png]=8 > 7 20 12918
yex—s—s5 o)

S8 I MiREE AR
R W W%
oh, wmnn arm

{

wrnni e |
wAx nie waes | oo

REAG | WReHSEAEARAD | e

e
G AR B X W s

WEnS o
el / [ AeER

G wam 2020.01.29 BEW | 2000 0120000

|

|

ol
N

RIS, AT





[image: image3.png]SYHI/CX—B—35 (o3y

SR EM

| mox |

0.09

& (mg/m?)

0.10

0.10

oz# o3t o4

AR ATA T I

S o AR

Ol#





[image: image4.png]SYHI/CX—B—35 (03)

=H D Mtb gy g
LU

B ) ¥ 2004 w1291 Y

LB L]

oH i
LS
BiEY
[ EMIEBEE |

) W 0.074 *
B = - l
[ ERAKERR o = =
o 0.02 | 0.02 g/l ‘
Fof, TSk, Kt 4‘ i
/ DW0O01 KR D 4‘ o
w= | MK ‘ )

FS2401290203 FS2401290204 “‘ j
8.1 Lt L L)

8.1
e 360 [een |

|
|

Gtk 319 l\ : =2
|

8
574





[image: image5.png]=i L% LN TP

1&&]?&%

ATHLUIE “CK B0 45 pe

 cvEm | Rw Wdia
" i

BECHAR (N /b) 22810

B D HUHRL (mg/m?) 3.29

DAOOL HFT 1 HEBEA (ke/h) 0.075

Bozt.01.20 TR R (mg/m?) L

HERGER (ke/h) 0.039

/B35 (0 S8 () ¥ 2024 40 129-1 %
\ ’ KM n *4]
= mon | m=x |
e 461 | 2008 |
ks 3 3.56 3.43
i . 0.080 0. Duj
: : 1.6 1.9 4\
o i . 0.036 0.043
” 397 | 3647
~

A2

BESAR (/) 3551 1
DACO2 HFATH | BRANIBIVKIE (og/w) | 2.6 78 |Lane)
HEFHL 3 (ke/h) 0009 | 0008 | 0010 |
W R R R -
Baat | Bwuww '&L:ﬂf*d“ B z;mJ k
RIS 18 10:29 58.0 = T R
R 10:19 56.8 / T
B R 3 10:58 58.0 / |
Jb 5 % 10:40 5.5 7|
K18 22:10 53.3 oo | /|
WR 2 22:00 19.8 @3 | /|
7% 3% 22:29 ma | o8 | /|
JoI 4% 22:19 20 | &1 | /|
A . ;
k)
R R ATAT Ald I %
B





